www.sesamemotor.com

-
&~ SESAME

Spiral Bevel Gearbox
B2 TitE 2% 1 i O R

PT

SERIES _

1ISO 9001  1SO 1400

< ® ] >
RS (€ @ RN, ZH EF




I PT-FS Single Stage Dims. EEINEIRTE

L2 oLl L2
L9 , L9 2 2 oLl
L3 22 |3, P8
<9 | + + +0 | O\¢
! (o)) (<)} = | (<))
____@__ - i — NN =t o:[E' __@__ -
B o =11 =T &l © o
+ s 3 + *
- © @ D14 n7
C ®D12
@D15 3
<
e ° ' sl | 1l
L5 , L6 B Y o
N s
CEN =
L12
1113
I Specifications #71% _
Unit: mm
PT60-FS PT75-FS PT90-FS PT110-FS PT140-FS PT170-FS PT210-FS
24-M4x0.7P - 24-M6x1.0P | 24-M8x1.25P | 24-M10x1.5P | 24-M12x1.75P -
13 - 18 22 32 40 -
60 = 88 108 135 165 =
21 = 28 33 47 55 =
M4x0.7P - M6x1.0P M8x1.25P M12x1.75P M16x2.0P -
60 - 86 106 104 128 =
60.2 = 88 108 135 165 =
41.8 = 87 107 103 127 =
60.8 = 90 110 140 170 =
31.5 - 52 57 67 77 -
10 = 15 15 15 15 =
12 - 17 17 17 17 -
16 = 28 32 45 50 =
2 = 3.5 4 2.5 5 =
24.75 - 36 44 55 67 -
38.2 = 65.5 77 86.4 94.1 =
4 = 4 45 6 6 =
12 = 16 20.5 30 36 =
46 = 100 100 130 165 =
M4x0.7P - M6x1.0P M6x1.0P M8x1.25P M10x1.5P -
<11/<14/<19 - <19/<24 <24 <32 <38 -
33 - 44 47 55.1 67 -
30 = 80 80 110 130 =
4 = 6 5 5 6 =
42.6 - 90 90 115 140 =
472 - 82 93 106 118 = I
108 = 172 203 246 288 =
18.5 = 26 23 27 35 =
77.6 - 127 148 176 203 -
5 = 6 6 10 12 =
15 = 20.5 24.5 35 43 =

*1. C1~C11 are motor specific dimensions (metric std shown), sizse may vary according to motor flange. C1~C112
* Specification subject to change without notice. KA T AR U FBIBREETRABSEAFTSHM -

N

EBEBERRY - BRATERNFERE -



I PT-FS Double Stage Dims. £S5\ 2L~ [E

L2 oLl L2
L9 L9 L4 L4 oLl
3| Lo L9 |5 19 19
17 [Tt M
<+ 0 | <+ + 40 |
| N N = | 2
____@__ = = M | ggo 3 __@__
3 3 I" = 3
4 % L 4 %
o) P D14 1
. D1
S ' ®D15 - ' 9D12
o0 —
I I k4 ! E ] - I |
gl Js i S —
| ] 3 8 [CTed Sl |
Ll _|#c3
@DC5 re
. 2 o
L5 , L6 N = ™
S T
&= el =
L12
1113 9 >
oc7  N_9Cl
I Specifications #71% _
Unit: mm
PT60-FS PT75-FS PT90-FS PT110-FS PT140-FS PT170-FS PT210-FS
24-M4x0.7P - 24-M6x1.0P | 24-M8x1.25P | 24-M10x1.5P | 24-M12x1.75P -
13 = 18 22 32 40 -
60 = 88 108 135 165 -
21 - 28 33 47 55 -
M4x0.7P - M6x1.0P M8x1.25P M12x1.75P M16x2.0P -
59.8 - 86 106 104 128 -
60.2 - 88 108 135 165 -
60 - 87 107 103 127 -
60.8 - 90 110 140 170 -
315 - 52 57 67 77 -
10 - 15 15 15 15 -
12 - 17 17 17 17 -
16 - 28 32 45 50 -
2 = 3.5 4 2.5 5 -
24.75 - 36 44 55 67 -
63.7 - 86.4 104.8 120.8 114.8 -
4 - 4 45 6 6 -
12 - 16 20.5 30 36 -
46 - 70 90 90 90 -
M4x0.7P - M5x0.8P M6x1.0P M6x1.0P M6x1.0P -
<8/<11 - <14/<19 <24 <24 <24 -
286 - 37.5 482 482 482 -
30 - 50 70 70 70 -
41 - 45 6 6 6 -
42 - 60 90 90 90 -
733 - 97.4 119.5 135.5 129.5 - '
134.1 - 187.4 229.5 2755 299.5 -
17 = 20 26 26 26 -
103.7 = 142.4 174.5 205.5 2145 -
5 = 6 6 10 12 -
15 - 20.5 245 35 43 -

*1. C1~C11 are motor specific dimensions (metric std shown), sizse may vary according to motor flange. C1~C112
* Specification subject to change without notice. KA T AR U FBIBREETRABSEAFTSHM -

N

EBEBERRY - BRATERNFERE -



I PT-FS Triple Stage Dims. =N IR <TE

L2 oLl L2
L9 , L9 14 La oLl
L9 L9 a8 L9 , L9
13 , 13 E
+% | + + R 40 | O\g
' B 2 D = ! Q
S 77\ Wi e | gl | =) __@____
@ =] = | § -
- - -
& % 4 ] D %
— 3 ®D144;
o D1
3 ! ®D12
5 @D15
3 o
o o - = ': = o
(@) ] o
L 3| 8 [ STl 1
Ll _|¢#c3
@C5¢6
) 2 o
L5, L6 B e — o
= e
- @© =] =i- -=
TL13 PNy
oc7 N_9C1

I Specifications #71%

Unit: mm

PT60-FS PT75-FS PT90-FS PT110-FS PT140-FS PT170-FS PT210-FS
= = 24-M6x1.0P | 24-M8x1.25P | 24-M10x1.5P | 24-M12x1.75P =
= S 18 22 32 40 &
= = 88 108 135 165 =
= = 28 33 47 55 =
= = M6x1.0P M8x1.25P M12x1.75P M16x2.0P =
= 3 86 106 104 128 =
= - 88 108 135 165 -
= = 87 107 103 127 =
= = 90 110 140 170 =
= = 52 57 67 77 =
= = 15 15 15 15 =
- = 17 17 17 17 =
= - 28 32 45 50 -
= = 3.5 4 2.5 5 =
= = 36 44 55 67 =
= - 86.4 149.8 165.8 159.8 -
= = 4 4.5 6 6 -
= = 16 20.5 30 36 -
= - 70 90 90 90 .
= = M5x0.8P M6x1.0P M6x1.0P M6x1.0P =
- = <14/<19 <24 <24 <24 =
- = 37.5 48.2 48.2 48.2 =
= - 50 70 70 70 -
= S 4.5 6 6 6 S
= = 60 90 90 90 =
= = 974 164.5 180.5 174.5 = !
= = 1874 274.5 320.5 344.5 =
= - 20 26 26 26 =
- = 1424 219.5 250.5 259.5 =
= = 6 6 10 12 =
= = 20.5 245 35 43 =

*1. C1~C11 are motor specific dimensions (metric std shown), sizse may vary according to motor flange. C1~C112 A SR EFZBERR T - BKFTEANBIERTE -
* Specification subject to change without notice. KA T AR U FBIBREETRABSEAFTSHM -



I PT-FSR Single Stage Dims. EEINEIR~T[E

oLl L2
L9 , 19 2 oLl
13 L9 L9 E— L9 L9
s S ]
%6 | + + 0 |
' 2 9 o~ L — ' @
[ D L _ = ?:]é __@__
9 5 Z 2
+ * 3 5 *
. © @D14 17
S ®D12
®D15 3
> o
L ° ' gl [ 1
& 3 5 6 s
s g I
@ =[
L12
L13
I Specifications #71% _
Unit: mm
PT60-FSR PT75-FSR PT90-FSR PT110-FSR PT140-FSR PT170-FSR PT210-FSR
24-M4x0.7P = 24-M6x1.0P | 24-M8x1.25P | 24-M10x1.5P | 24-M12x1.75P =
13 = 18 22 32 40 =
60 = 88 108 135 165 =
21 = 28 33 47 55 =
M4x0.7P = M6x1.0P M8x1.25P M12x1.75P M16x2.0P =
60 - 86 106 104 128 =
60.2 = 88 108 135 165 =
41.8 = 87 107 103 127 =
60.8 = 90 110 140 170 =
31.5 = 52 57 67 77 =
10 = 15 15 15 15 =
12 = 17 17 17 17 =
16 = 28 32 45 50 =
2 = 3.5 4 2.5 5 =
24.75 = 36 44 55 67 =
38.2 = 65.5 77 86.4 94.1 =
4 = 4 45 6 6 =
12 = 16 20.5 30 36 =
46 = 100 100 130 165 =
M4x0.7P = M6x1.0P M6x1.0P M8x1.25P M10x1.5P =
<11/<14/<19 - <19/<24 <24 <32 <38 -
33 = 44 47 55.1 67 =
30 = 80 80 110 130 =
4 = 6 5 5 6 =
42.6 - 90 90 115 140 =
472 - 82 93 106 118 = i
108 - 172 203 246 288 =
18.5 - 26 23 27 35 =
77.6 - 127 148 176 203 2
5 = 6 6 10 12 =
15 = 20.5 24.5 35 43 =

*1. C1~C11 are motor specific dimensions (metric std shown), sizse may vary according to motor flange. C1~C112

* Specification subject to change without notice. KA T AR U FBIBREETRABSEAFTSHM -

N

EBEBERRY - BRATERNFERE -



I PT-FSR Double Stage Dims. ZENEIR~T[E

oLl L2
L9 L9 L4 oLl
13| L9 L9 [; 19 19
it EE .
40 | + <+ 40 |
' 2 2 i e : 2
_ G S, _ : g g __@__
5 5) v . 3
4 $ . $ <% < ¢ il
. e D1 o
—
O [ ®D15 . o | ®D12
L1 1 © — g L1 1
S| S Pl o
| | | [[I]e Sl |
Ll |@c3
DC5 ke
c2 B
&) e o a B L6 , L5
| M
— = @ =[ 4:%'%{
(=)
‘ i L12
oc7 N_©C1 L13
I Specifications #71% _
Unit: mm
PT60-FSR PT75-FSR PT90-FSR PT110-FSR PT140-FSR PT170-FSR PT210-FSR
24-M4x0.7P - 24-M6x1.0P | 24-M8x1.25P | 24-M10x1.5P | 24-M12x1.75P -
13 - 18 22 32 40 -
60 - 88 108 135 165 -
21 - 28 33 47 55 -
M4x0.7P - M6x1.0P M8x1.25P M12x1.75P M16x2.0P -
59.8 - 86 106 104 128 -
60.2 - 88 108 135 165 -
60 - 87 107 103 127 -
60.8 - 90 110 140 170 -
31.5 - 52 57 67 77 -
10 - 15 15 15 15 -
12 - 17 17 17 17 -
16 - 28 32 45 50 -
2 - 3.5 4 25 5 -
24.75 - 36 44 55 67 -
63.7 - 86.4 104.8 120.8 114.8 -
4 - 4 45 6 6 -
12 - 16 20.5 30 36 -
46 - 70 90 90 90 -
M4x0.7P - M5x0.8P M6x1.0P M6x1.0P M6x1.0P -
<8/<11 - <14/<19 <24 <24 <24 -
286 - 37.5 482 482 482 -
30 - 50 70 70 70 -
41 - 45 6 6 6 -
42 - 60 90 90 90 -
73.3 - 97.4 119.5 135.5 129.5 - [
134.1 - 187.4 229.5 2755 299.5 -
17 - 20 26 26 26 -
103.7 - 1424 1745 205.5 214.5 -
5 - 6 6 10 12 -
15 - 20.5 24.5 35 43 -

*1. C1~C11 are motor specific dimensions (metric std shown), sizse may vary according to motor flange. C1~C112
* Specification subject to change without notice. KA T AR U FBIBREETRABSEAFTSHM -

N

EBEBERRY - BRATERNFERE -



| PT-FSR Triple stage Dims.

— BRINURT[E

oLl L2
L9, L9 L4, oLl
E L9, 19I5 é 9 L9
%0 | 4 4 R 40 | ®
' 9 9 N < ' 2
— {4} 1 J - a - 1 1
% % @ = © 9
4 % + % + Y Pb14.
9 | L @D12
o @ D15
Q T 0 =
(@] —
= = e 1 = ': = =
L 3| 8| e ST
Ll _|¢#c3
@C5¢6
) 2 o
P — o B L6 , L5
y N s N ==
@) g
N L12
SN
pys— e L13
I Specifications #71% _
Unit: mm
PT60-FSR PT75-FSR PT90-FSR PT110-FSR PT140-FSR PT170-FSR PT210-FSR
= - = 24-M8x1.25P | 24-M10x1.5P | 24-M12x1.75P -
= - - 22 32 40 -
- = = 108 135 165 -
= - - 33 47 55 -
= - = M8x1.25P M12x1.75P M16x2.0P -
- - = 106 104 128 -
- - - 108 135 165 -
- - - 107 103 127 -
= - = 110 140 170 -
- - = 57 67 77 -
= - = 15 15 15 -
= - = 17 17 17 -
- - - 32 45 50 -
- = = 4 2.5 5 -
= - = 44 55 67 -
- - - 149.8 165.8 159.8 -
- - - 45 6 6 -
- - - 20.5 30 36 -
- - - 90 90 90 -
- - - M6x1.0P M6x1.0P M6x1.0P -
- - = <24 <24 <24 -
- - = 48.2 482 482 -
- - - 70 70 70 -
- - - 6 6 6 -
- - = 90 90 90 -
- - = 164.5 180.5 174.5 - I
- - = 2745 320.5 3445 -
- - = 26 26 26 -
- - = 219.5 250.5 259.5 -
- = = 6 10 12 -
= - - 245 35 43 -

*1. C1~C11 are motor specific dimensions (metric std shown), sizse may vary according to motor flange. C1~C11
* Specification subject to change without notice. KA T AR U FBIBREETRABSEAFTSHM -

RANE

EBEBERRY - BRATERNFERE -



I PT-FSL Single Stage Dims. BRI E

L2 oLL
L9 , L9 ] oLl
13| 2L L3, e
<% | + + 0 |
| fox) = o)} | o))
-——-@-— = 3 & = = A g
= 5 I — &) =
4 $ ol 4 X & 4 $ -
o D1 7
© - = ®D12
@D15 8
o
L | — gl
L5 ,, L6 B o) 5,
© s
L12
{IEE :
LSS G
I Specifications #71% _
Unit: mm
PT60-FSL PT75-FSL PT90-FSL PT110-FSL PT140-FSL PT170-FSL PT210-FSL
24-M4x0.7P = 24-M6x1.0P | 24-M8x1.25P | 24-M10x1.5P | 24-M12x1.75P =
13 = 18 22 32 40 =
60 = 88 108 135 165 =
21 - 28 33 47 55 -
M4x0.7P = M6x1.0P M8x1.25P M12x1.75P M16x2.0P =
60 - 86 106 104 128 =
60.2 = 88 108 135 165 =
41.8 = 87 107 103 127 =
60.8 - 90 110 140 170 -
31.5 = 52 57 67 77 =
10 = 15 15 15 15 =
12 = 17 17 17 17 =
16 = 28 32 45 50 =
2 = 3.5 4 2.5 5 =
24.75 = 36 44 55 67 =
38.2 = 65.5 77 86.4 94.1 =
4 = 4 45 6 6 =
12 = 16 20.5 30 36 =
46 = 100 100 130 165 =
M4x0.7P = M6x1.0P M6x1.0P M8x1.25P M10x1.5P =
<11/<14/<19 - <19/<24 <24 <32 <38 -
33 = 44 47 55.1 67 =
30 = 80 80 110 130 =
4 = 6 5 5 6 =
42.6 - 90 90 115 140 =
472 - 82 93 106 118 = n
108 - 172 203 246 288 =
18.5 - 26 23 27 35 =
77.6 - 127 148 176 203 =
5 = 6 6 10 12 =
15 - 20.5 24.5 35 43 -

*1. C1~C11 are motor specific dimensions (metric std shown), sizse may vary according to motor flange. C1~C112
* Specification subject to change without notice. KA T AR U FBIBREETRABSEAFTSHM -

NBREFZERRRY - BRFTERNFEARE -



I PT-FSL Double Stage Dims. ZERINIR T E

L2 oLl

L9 , L9 oLl
L9 , L9
8 | 40 |
| ) 5 | )
____@__ 2 U S
3 ) 3
+ > . 4 o
9 @D14
3 | — . @D12
——— ]
o
| | il |
L5, L6
a
. &
L12
1113
I Specifications #71% _
Unit: mm
PT60-FSL PT75-FSL PT90-FSL PT110-FSL PT140-FSL PT170-FSL PT210-FSL
24-M4x0.7P - 24-M6x1.0P | 24-M8x1.25P | 24-M10x1.5P | 24-M12x1.75P -
13 = 18 22 32 40 8
60 = 88 108 135 165 =
21 - 28 33 47 55 -
M4x0.7P - M6x1.0P M8x1.25P M12x1.75P M16x2.0P .
59.8 - 86 106 104 128 =
60.2 - 88 108 135 165 =
60 = 87 107 103 127 =
60.8 - 90 110 140 170 -
315 - 52 57 67 77 -
10 - 15 15 15 15 =
12 s 17 17 17 17 -
16 = 28 32 45 50 =
2 = 3.5 4 2.5 5 =
24.75 - 36 44 55 67 -
63.7 = 86.4 104.8 120.8 114.8 =
4 = 4 45 6 6 =
12 = 16 20.5 30 36 =
46 = 70 90 90 90 =
M4x0.7P : M5x0.8P M6x1.0P M6x1.0P M6x1.0P =
<8/<11 - <14/<19 <24 <24 <24 -
28.6 = 37.5 48.2 48.2 48.2 -
30 = 50 70 70 70 =
4.1 = 4.5 6 6 6 =
42 - 60 90 90 90 =
73.3 - 974 119.5 135.5 129.5 =
134.1 - 187.4 229.5 2755 299.5 =
17 E 20 26 26 26 -
103.7 - 1424 174.5 205.5 2145 =
5 = 6 6 10 12 =
15 - 20.5 24.5 35 43 -

*1. C1~C11 are motor specific dimensions (metric std shown), sizse may vary according to motor flange. C1~C112
* Specification subject to change without notice. KA T AR U FBIBREETRABSEAFTSHM -

N

EBEBERRY - BRATERNFERE -



| PT-FSL Triple stage Dims.

—BRINUIRTE

L2 oLl
L9 L9 L4 oLl
3 L9, L9 B NENTH
49 | N + + 40 | B¢
! g o R % ' o
- I Al o Ty i L
® = A :
¢ % + % + s
: = wors
o @D15
(9 T —
3 E
SO < © i o =T
|- 3 8| e Sl
Ll |9
@ C5¢6
. (o)
L5, L6 B ™ Py — @
T s Sl S :
- o= =)
L12
I L13 ~——~°¢
@€l [ pey
I Specifications #71% _
Unit: mm
PT60-FSL PT75-FSL PT90-FSL PT110-FSL PT140-FSL PT170-FSL PT210-FSL
= - - 24-M8x1.25P | 24-M10xL5P | 24-M12x1.75P -
= - = 22 32 40 <
- = - 108 135 165 =
- - - 33 47 55 -
- - - M8x1.25P M12x1.75P M16x2.0P -
- - - 106 104 128 =
- = - 108 135 165 =
- = - 107 103 127 =
- - - 110 140 170 -
= - - 57 67 77 -
- - - 15 15 15 -
= - = 17 17 17 -
- = - 32 45 50 =
- = - 4 2.5 5 =
= - - 44 55 67 -
- = - 149.8 165.8 159.8 =
- = - 45 6 6 =
- = = 20.5 30 36 =
= = = 90 90 90 =
- - - M6x1.0P M6x1.0P M6x1.0P -
- - - <24 <24 <24 :
= - - 48.2 48.2 48.2 -
- = - 70 70 70 =
- = - 6 6 6 =
- - - 90 90 90 -
5 - - 164.5 180.5 174.5 =
= - = 274.5 320.5 344.5 -
- = - 26 26 26 =
= - - 219.5 250.5 259.5 =
- = - 6 10 12 =
- - - 24.5 35 43 -

*1. C1~C11 are motor specific dimensions (metric std shown), sizse may vary according to motor flange. C1~C11
* Specification subject to change without notice. KA T AR U FBIBREETRABSEAFTSHM -

RANE

EBEBERRY - BRATERNFERE -



I PT-FH Single Stage Dims. ERINEIR~TE

L9 L9
4 |
| (o))
-
N @@ __
<
¢ ®
—
—
o
@PD15
B3

H3
&
N\

oLl
1 4, = oLl
o
13| L9 19 5] 8 9 19
+ + 0 |
3 % =——c ;I'E I 3
[ al a Y 74h\ Y
=ilm==mlk &
()]
3l 14| ] | ] JLs a
8 1 -?- |I |.% u ¢_ ¢
D1 @D14 vy
—
@D12
3 T 3
< O o
MRS a— g
| locs]
PDC5¢6
)
&

I Specifications #71%

@Cl

Unit: mm
PT60-FH PT75-FH PT90-FH PT110-FH PT140-FH PT170-FH PT210-FH

24-M4x0.7P = 24-M6x1.0P | 24-M8x1.25P | 24-M10x1.5P | 24-M12x1.75P S
13 S 18 22 32 40 =
60 = 88 108 135 165 -
21 = 28 33 47 55 =
60 = 86 106 104 128 =
60.2 - 88 108 135 165 =
41.8 = 87 107 103 127 =
60.8 = 90 110 140 170 =
10 = 15 15 15 15 =
12 = 17 17 17 17 =
24.75 = 36 44 55 67 =
38.2 - 65.5 77 86.4 94.1 =
40 - 52 53 70 80 -
30 = 35 35 50 55 =
46 = 100 100 130 165 =
M4x0.7P = M6x1.0P M6x1.0P M8x1.25P M10x1.5P =
<11/<14/<19 = <19/<24 <24 <32 <38 =
33 = 44 47 55.1 67 =
30 = 80 80 110 130 -
4 = 6 5 5 6 -
42.6 = 90 90 115 140 =
47.2 = 82 93 106 118 g
108 = 172 203 246 288 -
18.5 = 26 23 27 35 =
77.6 = 127 148 176 203 =
5 g 6 6 10 12 =
15.3 = 20.8 24.8 353 433 =

*1. C1~C11 are motor specific dimensions (metric std shown), sizse may vary according to motor flange. C1~C112 A SR EFZBERR T - BKFTEANBIERTE -
* Specification subject to change without notice. KA T AR U FBIBREETRABSEAFTSHM -



I PT-FH Double Stage Dims. 5N~ [E

oLl
L9 L9 L4 L4 S oLl
1 P = T Ay
N —— St
*0 | <+ + 40 |
: 2 2 S — ' 2
- or—r——t3i [0
3 3| 124 = | s 3
+ s . o G 4 I | + o
» Q i h7
O [ #D15 . o | ®D12
I I = ! L - I I
== s A . ——
| | 38 [leg— 27| |
|pC3
DC5 g6
c2
B3 & =
IO HégH
q D
oc7  N\_@Cl
I Specifications #71% _
Unit: mm
PT60-FH PT75-FH PT90-FH PT110-FH PT140-FH PT170-FH PT210-FH
24-M4x0.7P - 24-M6x1.0P | 24-M8x1.25P | 24-M10x1.5P | 24-M12x1.75P -
13 - 18 22 32 40 -
60 = 88 108 135 165 =
21 = 28 33 47 55 =
59.8 - 86 106 104 128 =
60.2 = 88 108 135 165 =
60 = 87 107 103 127 =
60.8 = 90 110 140 170 =
10 = 15 15 15 15 =
12 - 17 17 17 17 -
- - - - - 50 -
- = - - - 5 -
24.75 - 36 44 55 67 -
63.7 = 86.4 104.8 120.8 114.8 =
40 = 52 53 70 80 =
30 = 35 35 50 55 =
46 = 70 90 90 90 =
M4x0.7P - M5x0.8P M6x1.0P M6x1.0P M6x1.0P -
<8/<11 - <14/<19 <24 <24 <24 -
28.6 = 37.5 48.2 48.2 48.2 -
30 = 50 70 70 70 =
41 = 45 6 6 6 =
42 - 60 90 90 90 =
73.3 - 974 119.5 135.5 129.5 = I
134.1 - 187.4 229.5 2755 299.5 -
17 - 20 26 26 26 -
103.7 - 142.4 174.5 205.5 214.5 -
5 = 6 6 10 12 =
153 = 20.8 24.8 353 433 =

*1. C1~C11 are motor specific dimensions (metric std shown), sizse may vary according to motor flange. C1~C112 A SR EFZBERR T - BKFTEANBIERTE -
* Specification subject to change without notice. KA T AR U FBIBREETRABSEAFTSHM -



I PT-FH Triple Stage Dims. =R\ IR~ [E

oLl
9 , L9 L4 L4, = m]
A I ) 38 9 L9
3 : Bl sls D —
ES | {4 4 - 4 | ¢
' 2 2 = ' 2
_-O ey (O
= o I | S =
3 Sl 4| [ \EEHS L25 -
+ o i R A + o
@ D14 1y
o D1
3] [ E— ®D12
= @ D15
(@] —
0] —
(@] =
—+= 3 o e o
i I L Ce—— Sl
Ll _|#c3
@C5rs
B3 . c2
Y =
RO \
H)H
LN
N\
oc7 N@Cl
I Specifications #71%
Unit: mm
PT60-FH PT75-FH PT90-FH PT110-FH PT140-FH PT170-FH PT210-FH
- - - 24-M8x1.25P | 24-M10x1.5P | 24-M12x1.75P -
= - = 22 32 40 -
- = - 108 135 165 =
- - - 33 47 55 -
- - - 106 104 128 =
- = - 108 135 165 =
- = - 107 103 127 =
- - - 110 140 170 -
- - - 15 15 15 =
= - = 17 17 17 -
= - = 44 55 67 -
- - 149.8 165.8 159.8
- - 53 70 80
- - 35 50 55
- - £ 90 90
- - M6x1.0P M6x1.0P M6x1.0P
_ _ <24 <24 <24
= - 48.2 48.2 48.2
- = 70 70 70
- = 6 6 6
- - 90 90 90
- - 164.5 180.5 174.5
- - 274.5 320.5 3445
- = 26 26 26
= - 219.5 250.5 259.5
- = 6 10 12
- - - 24.8 353 433 -

*1. C1~C11 are motor specific dimensions (metric std shown), sizse may vary according to motor flange. C1~C112 A SR EFZBERR T - BKFTEANBIERTE -
* Specification subject to change without notice. KA T AR U FBIBREETRABSEAFTSHM -



I PT-SS Single Stage Dims. EESINEIR~TE

L2 oLL L2
L9, L9 14 La, oLL
B L9, L9
%/ | + <+ 8 - 40 | O\
' 2 2 N 8 o ' 2
__@____ 1 . 2 __@____
! o @ —— o)
* - 3 = = = 21: * D14 4
3 | N —_— - i @D12
i : [l il
== | |gD13w
$D10
it [PT140/PT170/PT210-55
o * *
L5, L6 8 B1 %, ey % N
@:= @ = =- -= I
L12 =,
TLi3 ((OUTPUT SHAFT ) N % 2 @%%4 L
= Do [\ gbs
L1S, 116 -l
4@:: @[ ] QD13k6
22 @D11
INER (INPUT SHAFT)
I Specifications 1% .
Unit: mm
PT60-SS PT75-SS PT90-SS PT110-SS PT140-SS PT170-SS PT210-SS
24-M4x0.7P = 24-M6x1.0P 24-M8x1.25P | 24-M10x1.5P | 24-M12x1.75P =
13 = 18 22 32 40 =
60 = 88 108 135 165 =
21 = 28 33 47 55 =
M4x0.7P - M6x1.0P M8x1.25P M12x1.75P M16x2.0P -
53 = 76 95 92 114 =
4-M4x0.7P = 4-M5x0.8P 6-M6x1.0P 6-M6x1.0P 6-M8x1.25P =
34 - 46 59 59 74.4 -
60 = 87 107 103 127 =
59.8 = 86 106 104 128 =
13 - 18 22 32 40 -
60.2 - 88 108 135 165 -
M4x0.7P = M6x1.0P M8x1.25P M12x1.75P M16x2.0P =
60.8 = 90 110 140 170 =
315 = 52 57 67 77 =
10 = 15 15 15 15 =
12 - 17 17 17 17 -
16 - 28 32 45 50 -
2 = 3.5 4 2.5 5 =
43 = 55 60 60 70 =
19.5 = 35 40 50 60 =
2475 = 36 44 55 67 =
929 = 135 155 180 215 =
4 = 4 4.5 6 6 =
12 = 16 20.5 30 36 =
123.3 = 180 210 250 300 =
16 = 28 32 45 50 =
2 = 3.5 4 2.5 5 =
6 - 8 8 10 10 =
8 - 10 10 12 12 -
13 = 15 15 15 15 =
4 - 4 4.5 6 6 =
12 - 16 20.5 30 36 =
5 = 6 6 10 12 =
5 = 6 6 10 12 c
15 - 20.5 245 35 43 -
15 - 20.5 245 35 43 =

* Specification subject to change without notice. ZA T A# U BB RS ETREAEEALTTEM -




I PT-SSR Single Stage Dims. ERINEIRTE

oLl L2
9.8 L4, oLl
el £ 3 19 _ 19
' S
RS | + ry - : 1
| ) 9 2 5 ! =
A B M | . = PFRE
;e e
¢ 1 b
E : = = a D1 ﬂj: - —  ¢D14w
53 co| ™ = =i
= | ] B [ | BD12
Il = [l [
! ¢Dl3 k6
#D10
PT140/PT170/PT210-SSR | D11 )
= B1
a L6, L5
Bl I
| L
B -= @ =[
Jé__:::_ ( OUTPUT SHAFT) L12
ol L2 21| pD14w N % 2
- #D8

@D12 D9
m L16 L15
B2 ©
@D13 a
@D11 E

g
(INPUT SHAFT ) gg |
I Specifications #1% .
Unit: mm
PT60-SSR PT75-SSR PT90-SSR | PT110-SSR PT140-SSR PT170-SSR PT210-SSR
24-M4x0.7P = 24-M6x1.0P 24-M8x1.25P | 24-M10x1.5P | 24-M12x1.75P -
13 - 18 22 32 40
60 = 88 108 135 165
21 = 28 33 47 55
M4x0.7P = M6x1.0P M8x1.25P M12x1.75P M16x2.0P
53 = 76 95 92 114
4-M4x0.7P S 4-M5x0.8P 6-M6x1.0P 6-M6x1.0P 6-M8x1.25P
34 = 46 59 59 74.4
60 - 87 107 103 127
59.8 S 86 106 104 128
13 = 18 22 32 40
60.2 = 88 108 135 165
M4x0.7P = M6x1.0P M8x1.25P M12x1.75P M16x2.0P
60.8 S 90 110 140 170
315 - 52 57 67 77
10 = 15 15 15 15
12 = 17 17 17 17
16 = 28 32 45 50
2 = 35 4 2.5 5
43 = 55 60 60 70
19.5 S 35 40 50 60
24.75 = 36 44 55 67
92.9 = 135 155 180 215
4 - 4 4.5 6 6
12 = 16 20.5 30 36
1233 - 180 210 250 300
16 = 28 32 45 50
2 = 3.5 4 25 5
6 = 8 8 10 10
8 = 10 10 12 12
13 = 15 15 15 15
4 = 4 4.5 6 6
12 = 16 20.5 30 36
5 = 6 6 10 12
5 S 6 6 10 12
15 = 20.5 24.5 35 43
15 - 20.5 245 35 43
* Specification subject to change without notice. ZA T A# U BB RS ETREAEEALTTEM -




I PT-SSL Single Stage Dims. EERSINEIR~TE

L2 oLL
L9 L9 14] oLl
gt ST L3 é L9, L9
rY | 4 R 4, | 3
I (o)} (o)) < I a
‘o 12 2l @ 3| S
) ) — <
+ % & + % D %
= + @) @D14 n7
3 i N[ DL "i: T |eb12
] 2 [l il
[ @ D13 s
@D10
o | PT140/PT170/PT210-SSL
L5, L6 B1 ™ < [
1 e i S{ % 3 =i
B ez = 1 ]
L12 e
s ( OUTPUT SHAFT ) 3 % 2 ¢<%%4 W
D9 PD8
L15, L16 : B2 ﬁf
5 @ 7 | ®D13k
122 @p11
T 23 (INPUT SHAFT )
I Specifications #1% |
Unit: mm
PT60-SSL PT75-SSL PT90-SSL | PT110-SSL PT140-SSL PT170-SSL PT210-SSL
24-M4x0.7P = 24-M6x1.0P 24-M8x1.25P | 24-M10x1.5P | 24-M12x1.75P =
13 = 18 22 32 40 =
60 = 88 108 135 165 =
21 = 28 33 47 55 =
M4x0.7P - M6x1.0P M8x1.25P M12x1.75P M16x2.0P -
53 = 76 95 92 114 =
4-M4x0.7P = 4-M5x0.8P 6-M6x1.0P 6-M6x1.0P 6-M8x1.25P =
34 - 46 59 59 74.4 -
60 = 87 107 103 127 =
59.8 = 86 106 104 128 =
13 - 18 22 32 40 -
60.2 - 88 108 135 165 -
M4x0.7P = M6x1.0P M8x1.25P M12x1.75P M16x2.0P =
60.8 = 90 110 140 170 =
315 = 52 57 67 77 =
10 = 15 15 15 15 =
12 - 17 17 17 17 -
16 - 28 32 45 50 -
2 = 3.5 4 2.5 5 =
43 = 55 60 60 70 =
19.5 = 35 40 50 60 =
2475 = 36 44 55 67 =
929 = 135 155 180 215 =
4 = 4 4.5 6 6 =
12 = 16 20.5 30 36 =
123.3 = 180 210 250 300 =
16 = 28 32 45 50 =
2 = 3.5 4 2.5 5 =
6 - 8 8 10 10 =
8 - 10 10 12 12 - i
13 = 15 15 15 15 =
4 - 4 4.5 6 6 =
12 - 16 20.5 30 36 =
5 = 6 6 10 12 =
5 = 6 6 10 12 c
15 - 20.5 245 35 43 -
15 - 20.5 245 35 43 =

* Specification subject to change without notice. ZA T A# U BB RS ETREAEEALTTEM -




I PT-SH Single Stage Dims. EEIN IR E

oLl
L9 , L9 14 4, = oLl
oo 3] 81 8 9 L9
kS | 4 <+ - 4, | ®
' 3 3 —t = : 2
o1 | I—EHeey o
= 3 124 [ T | L25 -
4 ¢ § j A [T gzl: 4 D14 w
S . NEE B | @D12
1 T I
- [ ®D13«ks
PT140/PT170/PT210-SH | @ D10 _
ry ry @D11 wof
1] 83 e ps|| NS
S 3, Y 3
e I o
o ||
ﬁf : g
L |01 ( OUTTPUT SHAFT ) D:: "@Dg ;‘:
@D11 (INPUT SHAFT )
I Specifications 1% ,
Unit: mm
PT60-SH PT75-SH PT90-SH PT110-SH PT140-SH PT170-SH PT210-SH
24-M4x0.7P - 24-M6x1.0P | 24-M8x1.25P | 24-M10x1.5P | 24-M12x1.75P -
13 - 18 22 32 40 -
60 = 88 108 135 165 =
21 = 28 33 47 55 =
53 = 76 95 92 114 =
4-M4x0.7P - 4-M5x0.8P 6-M6x1.0P 6-M6x1.0P 6-M8x1.25P -
34 - 46 59 59 744 -
60 - 87 107 103 127 -
59.8 = 86 106 104 128 =
13 = 18 22 32 40 =
60.2 = 88 108 135 165 =
M4x0.7P - M6x1.0P M8x1.25P M12x1.75P M16x2.0P -
60.8 = 90 110 140 170 =
10 = 15 15 15 15 =
12 = 17 17 17 17 =
43 = 55 60 60 70 =
19.5 = 35 40 50 60 =
24.75 = 36 44 55 67 =
92.9 = 135 155 180 215 =
123.3 = 180 210 250 300 =
16 = 28 32 45 50 =
2 = 3.5 4 25 5 =
6 = 8 8 10 10 =
8 = 10 10 12 12 =
13 = 15 15 15 15 =
4 - 4 4.5 6 6 -
12 - 16 20.5 30 36 =
40 = 52 53 70 80 =
30 = 35 35 50 55 =
5 = 6 6 10 12 =
5 = 6 6 10 12 =
15 - 20.5 24.5 BE 43 -
15.3 - 20.8 24.8 353 433 =

* Specification subject to change without notice. AT A # & FBIBRASETREEE L 5TEM -




PT series <
&7 SESAME
I PT Flange Input Specs. Table JZBAEMAEREHER

Specifications #1& Sgﬁagsle ;];?gl?b (FS/FEIT/?SOR/FH) (FS/FELT/ZSSR/FH) (FS/FELT/?SOR/FH) (FS/EJL}F%!Q/FH) (FS/IEJS-II-}?‘S‘I%FH) (FS/FPS-I-L}FZQ/FH) (FS/IFDS-I-L/zF%SFH)
1 25 45 78 150 360 585 1300
15 25 45 78 150 360 585 1300
1 2 24 42 68 150 330 544 1220
3 18 33 54 120 270 450 1020
4 13 28 48 100 224 376 360
5 12 25 40 85 196 320 740
7 13 13 40 100 100 100 210
9 - 33 54 120 210 210 430
10 24 42 68 150 208 208 460
Nominal Output Torque 15 18 33 54 120 270 312 645
585284 1 4B T2n N-m| 2 20 13 28 48 100 224 376 860
25 12 25 40 85 196 320 740
35 12 25 40 85 196 320 740
50 12 25 40 85 196 320 740
75 - - - 120 270 312 645
100 = - - 100 224 376 860
125 = o o 85 196 320 740
150 - - - 120 270 312 645
3 200 - - - 100 224 376 860
250 - - B 85 196 320 740
350 - o S 85 196 320 740
500 - - = 85 196 320 740
Emergency Stop Torque N-m 2.0 Times of Nominal Output Torque 2.0 88 E %t 748 N
== H%ETNnoT (* Max. Output Torque &A%t %ET28=1.5 Times of Nominal Output Torque 1.5fZ %8 &t 1%E)
1 2500 2000 1700 1400 1100 1000 800
Vol Saesd 1 [ 152 | 3000 2500 2000 1600 1400 1300 1050
SEEHAEENIN rpm 3,4,5 3500 3000 2500 2100 2000 1800 160
2 7-50 5000 5000 4000 4000 4000 3500 3000
3 75-500 - - - 5000 4000 4000 4000
e SR 1 1-5 7500 6500 5500 4500 3500 3000 2200
5578 ) B8IE N 1max rpm 2 7-50 8000 8000 6000 6000 6000 6000 4800
3 | 75-500 - = = 8000 8000 8000 6000
1 1-5 <6 <6 <6 <6 <6 <6 <6
Standaggicgash 2 arcmin| 2 7-50 <8 <8 <8 <8 <8 <8 <8
e 3 [ 75-500 - - - <10 <10 <10 <10
o Radial load N |123| 1-500 | 900 1100 1700 2700 4800 6600 11500
i Axial Load N |123| 1-500 | 450 550 850 1350 2400 3300 5750
Operating Temp. ERRE °C 1123 -10°C ~ +90°C
Service Life RS hrs | 1,23 20,000 (10,000 Continuous Operation & #53E &)
Efficiency %% % 1 2 98%
2,3 >94%
1 1-5 2.8 4.6 7.5 12.8 21.8 38.3 72.6
FS/FSL/FSR kg 2 7-50 3.2 5.2 8.5 153 25.1 40.7 77.3
. = 3 75-500 - - - 16.1 259 42.0 79.2
Weight &5 1| 15 26 43 71 121 200 349 66.1
FH kg 2 7-50 3.1 4.9 8.1 14.6 23.5 37.3 70.8
3 75-500 - - - 154 24.3 38.5 724
Mounting Position Z#££75[a) - 1,23 Any Direction EE 7@
Noise Level I35 &2 dBA/Im| 1,23 ] 1-500 | 68 [ 70 | 74 | 75 | 76 | 77 | 79
Protection Class Fh:EZ5 4k - 1,23 P65
Lubrication &% - 123 Synthetic Lubricant £ & 5B S HAE
Inertia Bl & EENIES (J1)
Stage &1 Ratio JRZRLE unit B84 (FS/FEE?S?{/FH) (FS/FEL-I;ZSSR/FH) (FS/FEJ/?S(IJR/FH) (FS/IES-D%F({)/FH) (FS/FPJL/IFAS'Q/FH) (FS/ESUFZSFH) (FS/IFDS-[/ZF%FQ/FH)
1 0.51 135 321 7.82 251 61.5 198.9
1 15 0.46 118 29 6.85 20.3 51.2 158.2
2 Kq - cm? 0.44 1.15 2.75 6.52 18.7 473 142.5
3-5 9 043 111 271 6.21 18.1 452 136.5
2 7-50 0.04 0.07 0.32 1.0 16 31 9.8
3 75-500 - = = 0.23 0.26 0.75 1.0
1. Applied to the output shaft center at 400 rpm. &i 8238400 romBs - {ERR &L E P OIS -
2. Measured at 1500 rpm with no load. 1500 rpmZ &£ 5 -
X The above figures/specifications are subject to change without prior notice. ZATI A D FBHIEREE TR EBRGLITEM -




PT series

’2@

Z~ SESAME
I PT Solid Shaft Input Specs. Table EEMEERBHTE

Specification 14 Stage | Ratio | pT60 P75 PTOO | PTLI0 | PT140 | PT170 | PT210
pecitication uis B2 | SEIEEL | (5S/SSL/SSR/SH) | (SS/SSL/SSR/SH) |(SS/SSL/SSR/SH) | (SS/SSL/SSR/SH) | (SS/SSL/SSR/SH) |(5S/SSL/SSR/SH) | (55/SSL/SSR/SH)
1 25 45 78 150 360 585 1300
15 25 45 78 150 360 585 1300
Nominal Output Torque N .-m 1 2 24 42 68 150 330 544 1220
EATE B NEEToN
3 18 33 54 120 270 450 1020
4 13 28 48 100 224 376 860
5 12 25 40 85 196 320 740
Emergency Stop Torque N -m 2.0 Times of Nominal Output Torque 2.01&28E &t 1155
=IEETNoT (* Max. Output Torque S A#iH 114ET28=1.5 Times of Nominal Output Torque 1.5{&28E #i 4 F14)
1 1 2500 2000 1700 1400 1100 1000 800
Nominal Input Speed
ETE A A SN 1N rom 1 15,2 3000 2500 2000 1600 1400 1300 1050
1 3,4,5 3500 3000 2500 2100 2000 1800 1600
gj("%”/\pﬁégﬂied pm | 1 | 15 | 7500 6500 5500 4500 3500 3000 2200
% l T max
Standigggﬂgash 2 arcmin 1 1-5 <6 <6 <6 <6 <6 <6 <6
Maxégaﬂjigé gig,%”r;;jtﬁzuéfha“ N 1 | 15 900 1100 1700 2700 4800 6600 11500
MB%AQ?E'Egaigﬂg‘g%@g lehaft N 1 | 15 450 550 850 1350 2400 3300 5750
Ma;ﬁfj\difgL,;‘th‘:«?%l%pﬁfr;haﬁ N 1 | 15 700 950 1450 2100 2700 3800 7800
M}%ﬁ(!{ég;ﬁﬁ;g}?;i;aﬁ N 1 | 15 350 425 725 1050 1350 1900 3900
Operating Temp. ERRE °C -10°C ~ +90°C
Service Life fEFIE hrs 20,000 (10,000 Continuous Operation @48 E &)
Efficiency 2% % >98%
SS kg 1 1-5 2.6 44 7.2 122 20.8 36.5 69.2
1 1-5 2.5 43 7.1 121 20.5 359 68.1
Weight B8 SSL_| kg
SSR kg 1 1-5 2.5 43 7.1 121 20.5 35.9 68.1
SH kg 1 1-5 24 41 6.8 116 191 333 63.0
Mounting Position 2457515 - 1 1-5 Any Direction £=75 10
Noise Level (€5 E2 dBA/1m 1 1-5 66 ‘ 68 ‘ 72 ‘ 74 75 ‘ 76 ‘ 78
Protection Class P54k - 1 1-5 P65
Lubrication && = 1 1-5 Synthetic Lubricant & s B HAE
Inertia JR R ES)IES (J1)
o TS i+ 29 PT60 P75 PT90 PT110 PT140 PT170 PT210
Sage EiE( Ratio JRUIELE unit B oo o sSRrsH | (55/5SLISSR/SH) | (55/SSLISSR/SH) | (55/SSLISSR/SH) | (55/SSUSSR/SH) | (55/SSL/SSR/SH) |(55/SSLISSR/SH)
1 0.51 135 321 7.82 251 61.5 198.9
15 5 0.46 118 29 6.85 20.3 51.2 158.2
1 Kg-cm
2 0.44 1.15 2.75 6.52 18.7 473 142.5
3-5 043 111 271 6.21 181 45.2 136.5

* 1. Applied to the output shaft center at 400 rpm. & 832400 rpmfs - EFRRE LB P OIS -
* 2. Measured at 1500 rpm with no load. 1500 rpmZE& £ 5 -
X The above figures/specifications are subject to change without prior notice. A S A #H P _E EIRRRIETRETEBEAKITEL -

Products due to human error, natural disasters or other factors lead to poor or damaged, will not be covered under warranty.
EREARREFXKERRERARIIRIR - FEREHEA -

R B D BIRAS
599, Sec 1, Hemu Rd., Shengang, Taichung 42953, Taiwan

TEL : +886-4-2561-0011 FAX : +886-4-2562-7766
Skype phone : sesame_motor
info@sesamemotor.com.tw

www.sesamemotor.com




